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= THE UNIFIED EXAMINATION (2017)
2 INDEPENDENT CHINESE SECONDARY SCHOOLS
MALAYSIA
;:3 Senior Middle Level
S ENGLISH LANGUAGE
(SY03)

PAPER 1  WRITING

Date : 30 October 2017
Time :8.30am.-10.10 a.m.
(1 hour 40 minutes)

INSTRUCTIONS TO CANDIDATES

1. This subject comprises two papers:
Paper 1: Writing (50%)
Paper 2: Reading and Language Use  (50%)

2. Complete Paper 1 within the 1 hour 40 minutes allocated. After a 15-minute interval,
proceed with Paper 2.

3. Paper 1 consists of two sections:
Section A: Summary Writing (15%)
Section B: Essay Writing (35%)
Section B should be written on the provided Essay Writing sheets.

4. Please use blue or black ink to write your answers.
5. Question number or the topic you have chosen should be clearly written.
6. Your essay will be assessed on content, grammar, organisation, spelling and punctuation.

7. Before attempting the questions, fill in your index number on the marking-sheet
(computer card) and blacken the corresponding letters/numbers with a SB pencil. After
answering all the questions, blacken the numbers of the questions you have chosen in the
question number column and also indicate the total number of questions answered.

8. Paper 1 consists of three printed pages and a blank page at the end.

Do Not Turn Over This Page Until You Are Told To Do So

(Candidate’s Name: Index Number: )
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SECTION A SUMMARY WRITING (15%)

Read the following passage carefully. Write a summary on:
- the reasons why people procrastinate,

- its ill effects, and

- how to overcome procrastination

Your summary should be in continuous writing and should not be longer than 150 words. Credit will be given
for the use of own words. State, in brackets, the number of words you have written.

Procrastination is the act of putting off doing something important till a later time or date. Most of
us procrastinate now and then. We may make big plans such as cleaning the house or starting on a diet
but never carry them out. Some of us blame others or circumstances when we procrastinate. While it is
only an occasional problem for most, procrastination can be a chronic stumbling block for others.

There are many reasons for procrastinating. The first is that we may dread taking on a difficult or
boring job. When a task is perceived as long or difficult, many will procrastinate simply because there is
no immediate gratification. For example, it will take months to lose those ten pounds or it will take tons
of energy to clear the room. Putting off a diet programme one more day will not make much difference.
Sleeping in a messy room for another day won’t make a difference, and the list goes on.

Besides that, fear of failure is also another reason why we procrastinate. This fear often comes into
play at school where performance is evaluated and can affect our future success. A student may put off
studying for a test until the last minute. Lack of time spent for studying is a more desirable explanation
for failure than lacking the intelligence to learn the material.

Procrastination causes stress, anxiety and a feeling of failure. Students who fear failure ultimately
become anxious, and stressful, and tend to fail when they do not prepare for tests or start projects on
time. Employees who begin tasks at the last minute rarely perform as well as their non-procrastinating
colleagues. Putting off a diet programme ultimately adds to the number of pounds you need to lose to be
healthy, thus, making the job that much harder to accomplish.

To overcome procrastination, first, figure out why you are procrastinating. Is it fear of failure or
lack of confidence? Write down all the reasons why putting off your project will bring you one step
closer to failure. Does it make sense to put it off any longer? NO.

Next, break down the task into smaller jobs. If it is a thirty-page paper due in two weeks, write
down a goal of finishing three pages a night. After you have finished your nightly quota, give yourself a
reward of some sort. Watch your favourite television programme or have a hearty meal.

Those of us who procrastinate on a day-to-day basis need a realistic ‘to-do’ list. Keep the list with
you and stick to the order. Cross things off as they are accomplished.

Tell your friends and family about your goals. If you have someone asking you how your diet is
coming along, it is more difficult to cheat. If you have a major project to do, ask a friend to help keep
you on the task by monitoring you frequently.

In conclusion, procrastination can cause you to miss opportunities and sabotage your future.
Remember the saying, ‘Procrastination is the thief of time’ and stop procrastinating!

(Source: Jenny Tan & Ainon Zubiar (2012). Longman Pearson Malaysia)
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SECTION B ESSAY WRITING (35%)

Write an essay of not fewer than 350 words on one of the following topics.
1. Unity is strength. In your opinion, what are the ways to encourage our people to stay united as a
nation?

2. Today, more and more people are travelling. Compare and contrast domestic travelling to travelling
overseas.

3. There is an increasing number of people who stay up late. Discuss the causes and effects of staying
up late.

4. More and more young people are using credit cards to settle their bills. Discuss the advantages and
disadvantages of using credit cards.

5. “Bad eating habits are hard to break”. Do you agree? Provide reasons to support your view.
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THE UNIFIED EXAMINATION (2017)
INDEPENDENT CHINESE SECONDARY SCHOOLS
MALAYSIA

Senior Middle Level

ENGLISH LANGUAGE
(SY03)

PAPER 2 READING AND LANGUAGE USE

Date : 30 October 2017
Time :10.25a.m.-11.45a.m.
(1 hour 20 minutes)

INSTRUCTIONS TO CANDIDATES

1. This subject comprises two papers:
Paper 1: Writing (50%)
Paper 2: Reading and Language Use (50%)

2. Paper 2 consists of two sections:

Section A: Reading (30%)
There are three parts in this section:
Part [: Critical Reading  (10%)
Part II: Vocabulary (10%)
Part III: Comprehension (10%)

Section B: Language Use (20%)
There are two parts in this section:
Part [: Error Identification (10%)
Part II: Word Forms (10%)

3. (i) Answer all the multiple-choice questions on ‘answer-sheet O’ (computer card),
select the best answer and blacken the square corresponding to the same letter of the
alphabet as the answer you have selected and mark with a 2B pencil.

(i) Answer Section B-Part II (Word Forms) question on the Senior English Language
answer sheet provided. Please use blue or black ink to write your answers.

4. Before attempting the questions, fill in your index number on the marking-sheet
(computer card) and blacken the corresponding letters/numbers with a SB pencil. After
answering all the questions, blacken the numbers of the questions you have answered in
the question number column and also indicate the total number of questions answered.

5. Paper 2 consists of ten printed pages.
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SECTIONA READING (30%)
Part I Critical Reading (10%)

Read each extract and then choose the best sentence that summarises the extract.

1. Although more and more women are rising to higher positions, there are still many deep-rooted
prejudices and double standards that keep them from achieving the very top positions. Companies
may say that they value interpersonal skills, but they still look for a leader who is decisive and a risk
taker. These qualities are perceived as being mainly masculine, and a new study has shown that
women may be penalised for having the same attributes. Although women have proved that they are
capable of leading a company, it seems that they will not get the chance to do so unless their

superiors are prepared to enter the twenty-first century.

A Men are better at taking the lead.
B The main issue is gender discrimination.
C Women make better managers than men.
D The main theme is masculine and feminine issues.
2. For a growing number of environmentalists, the humble plastic bag has become public enemy

number one— an unnecessary evil that must be stopped. The only people who have a good word to
say about plastic bags are the owners of the plastic-bag industry. They claim that plastic bags are
nowhere near the world’s worst environmental problem. They say that the reason they are under
attack is because they are an easy and emotive target that reflects the individuals’ guilt about general

environmental responsibility. So who is right?

The plastic bag has posed an unnecessary threat to the environment.
Plastic-bag industry claims that plastic bags are not the world’s worst environmental problem.

The conflicts occur between plastic-bag industry and the guilty users of plastic bags who put the

blame on the producers of plastic bags.

D The plastic-bag industries are under attack because they are an easy and emotive target that each

individual can think of without any hesitation.
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3. The piranha is a much-maligned fish. Most people think that this is a deadly creature that crowds
the rivers and creeks of the Amazon rainforest looking for victims to tear apart. And woe betide
anyone unfortunate enough to be in the same water with a shoal of piranhas. It takes only a few

minutes for the vicious piranha to reduce someone to a mere skeleton.

The truth is that the piranha is really a much more misconstrued animal than the mindless killer
portrayed in the media. In fact, piranhas are a group made up of roughly twelve different species.
Each piranha species occupies its own ecological niche. One species takes chunks out of the fins of
other fish. Another type eats fruits falling from trees into the river. Each piranha species plays a
unique role in the ecology of the rainforest floodplains. So what would you do the next time you hear
someone talking about the “deadly piranha”? You can remind them that the piranha is not always the

notorious killer that the popular nature television shows would have us believe.

A The text describes two different species of piranhas.
B The primary purpose of the author is to correct misconceptions about the piranha.
C The author tries to illustrate the importance of piranhas in the rainforest ecology.
D The passage informs the reader on what to say if someone describes the piranha as “deadly”.
4. Have you ever wondered how people’s personalities and behaviours are formed? Two distinct

schools of thought on the matter have developed and they differ in their approaches. The dispute is
often referred to as nature and nurture. Supporters of nature believe that our personalities and
behaviour patterns are largely determined by biological and genetic factors and our environment has
little to do with our abilities, characteristics, and behaviours. Advocates of the nurture theory claim
that our environment is more important than our biologically based instinct in determining how we
will act as they see humans as beings whose behaviour is almost completely shaped by their

surroundings. Neither of these theories can yet fully explain human behaviour.

A person’s instincts have little effect on his actions.
There are a lot of similarities between the two theories.

A person’s characteristics can be hereditary or cultivated.

TS O = »

It is impossible to explain why we possess certain characteristics.
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Both Sam's parents worked in towns far from home where their son was boarding and led lives
that were as busy as the lives of the other parents in the village. Sam found direction from these
sources: the explicit rules laid down by the school resident matron and the implicit rules that
governed his relationships with his peers. He was further guided by the strong value system
inculcated over the years when the family spent time together at home. Sam was thus in a position
to make the right decisions most of the time, gaining support and reward from those in authority
over him. His sources of direction were sufficiently strong to create a safe path through his teenage
years.

- Growing Up
Sam attributed his virtuous character to his pillars of strength at school or his friends but none from
his family.
Sam attributed his virtuous character to his own personal growth as a student staying away from
home as guidance was not made possible to him.
Sam attributed his virtuous character to himself and the specific rules governing his relationship
with his friends as well as guidance from his family.
Sam attributed his virtuous character to the school and the unreserved rules governing his

relationship with his friends as well as guidance from his family.

Part II Vocabulary (10%)

10

15

20

2017 Dong Zong Copyright Reserved

Read the following passage carefully and choose the most appropriate meaning of each word or
phrase printed in bold as used in the passage.

What are the special memories of your childhood? Joanne’s routine reminds me that
nostalgia can do a lot to help you unwind. If you ask our daughters what they remember, their
first answer would be “freshly-popped popcorn”. The fragrance of popping corn would permeate
the house, as Jack would regularly make huge bowls of it. This was before the days of automatic
poppers or microwave popcorn. Jack just poured the corn into a big frying pan on the stove and
shook it vigorously. The smell was even better than what you would find in movie theatres, and
the house was filled with wonderful aroma.

When I think of the smells that made my childhood special, I remember running home for
lunch rather than eating in the school cafeteria because we lived only two blocks away. The
winter days in Michigan were cold and blustery, and I could still feel the crunch of the snow
under my galoshes as I hurried home, often with the cold biting my face and my ‘babushka’
getting all snowy as | made my way through the drifts.

I would run up the steps into our house, and as I came through the door, I would smell
that wonderful homemade tomato soup, which Mom had canned the summer before. Her sauce
was so thick that it would be equivalent to what people call the salsa today. Mom always made a
lot of it. Canning it in old glass jars and then stringing them in the root cellar.

The sauce was her special blend, and along with onions, peppers and tomatoes, of course.
It made her soup unforgettable. How I would love to come in and out of the biting cold wind
into that warm house and stand over the floor register, feeling the heat flow up around me. And
then I would sit down to a bowl of steaming hot tomato soup. What a delight! It was worth the
freezing hike home just to smell that delicious soup.

-20.
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6. The word “nostalgia”(line 2) has the similar meaning as

A reminder

B remission

C remittance

D reminiscence

7. “The fragrance of popping corn would permeate the house” (lines 3-4). This implies that the fragrance of
the corn would across the house.
A spread
B flow
C seep
D fill

8. The word “vigorously”(line 6) can be replaced by
A stiffly
B strongly
C strangely
D strenuously

9. The word “blustery” (line 10) told us that Michigan was cold and

A frosty
B windy
C wintry
D freezing

10. The phrase “...often with the cold biting my face...” (line 11) implies that the author was

A cold
B sneezing
C freezing

D being bitten

11. The synonym for the word “drifts” (line 12) is

A path

B snow
C wind
D current

12. “Canning it in old glass jars and then stringing them in the root cellar” (line 16). The phrase suggests
that the salsa was arranged in a in the root cellar.
A box
B pile
C line
D carton

13. “It made her soup unforgettable” (line 18) implies that the soup was
A popular
B creamy
C traditional
D delicious
=30 -
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14.

15.

“I would love to ... stand over the floor register ...” (lines 18-19) implies that there was a/an
on the floor where the air was allowed into a room.

A window

B opening

C door

D vent

The phrase in “... a bowl of steaming hot tomato soup” (line 20) suggests that the soup was

hot.

A Dboiling

B mildly

C merely

D simply

Part Il Comprehension (10%)

10
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Read the following passage carefully and then answer the questions that follow. Select the best
answer for each question from options A, B, C or D.

It was a strange scenario: three people walked in together. They kept circling the buffet

table, pointing to this and that and then the ones who appeared to be the mother and son, seated
themselves at a table and waited. Much to the amazement of everyone present in the Premier

Lounge at KLIA, the third person, a young Indonesian girl, began to serve the pair. Back and
forth she went, carrying plates of their ‘chosen’ food to the two persons who seemed perfectly
capable of serving themselves but chose not to.

There were many in the lounge who found it hard to mask their shock and disgust at what

they were witnessing. The only ones who did not bat an eyelid were the Malaysians so
accustomed to this culture of maids attending to their employers hand and foot. However, it was
embarrassing all the same.

Poverty in neighbouring countries, coupled with a booming economy in Malaysia, has

given rise to a strange phenomenon of entitlement amongst Malaysians. It has suddenly become

unthinkable, almost disgraceful to be seen attending to menial household chores. The maid is the
status symbol to announce that some things are beneath our dignity to attend to!

Serious repercussions have begun to manifest themselves in our society as a result of this

‘phenomenon’. With the arrival of the maid, a hierarchy of power is immediately established.

Children learn fast that these girls, usually sheltered, inexperienced and ready to please, are easy
to manipulate to ensure that their every whim and fancy is attended to. More often than not, this
is actually endorsed by the parents themselves.

How does this play out? Toys never have to be picked up and put away by children. I

remember clearly the image of my sister’s living room with toys, cushions and books strewn all

over by my little nephews and nieces. When I asked them to clean up before we called it a night,
one of my nephews very reassuringly said, “Don’t worry, Aunty. When we are fast asleep, kakak
will put everything neatly away.” Is it any wonder that at twenty-two years of age, this same

nephew of mine still has no clue as to how to keep his room tidy?
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On a school trip to Japan, my daughter told me about how bags that were obviously
packed for the students by their maids, had to be repacked at the end of the trip by the teachers
because the children had no idea how to do it themselves. And these were fifteen-year-olds!

A Singaporean friend witnessed a most amazingly funny scene where a sturdy young
man reporting for National Service duty walked energetically towards the office. Behind him
however, lo and behold, was the maid, barely able to lug his overloaded knapsack! Our
neighbours across the Causeway too seem to be suffering a similar fate of pampered children!
Is it really necessary to make our children’s lives so ‘comfortable’? We send them into society
totally unable to fend for themselves even in the most basic circumstances.

Recently, there was an ‘uproar’ in a Los Angeles campus about comments made by an
American sophomore about Asian parents actually coming to the campus on weekends to cook,
clean and do laundry for their college-going kids. Their presence, she claimed, changed the
whole atmosphere of what was designed to be ‘student’ living quarters. It would be interesting to
hear the answer to her question: “Don’t Asian parents teach their children how to do anything for
themselves?”

Malaysians seem to have been struck by this insidious social disease — where live-in
maids do every conceivable chores for their children— so much so they fail to grow up equipped
to do the most basic things for themselves. I cannot help but wonder if the recent difficulty in
procuring maids might be that ‘silver lining’ to halt this long-glossed over insidious trend of
over-pampering our children. Hopefully, it will allow us once again to equip them with the basic
skills that allow them to grow into responsible adults who will be a credit to society.

[Source: Koh, L.W. (2013). Maid To Order. Calibre.]

Everyone present in the lounge was amazed to see the strange scenario. Why?
A The maid was eating at the same time as the mother and son.

B Three people circling the buffet table before choosing the food to eat.

C The mother and son were seated before helping themselves to the food.

D The maid was serving two people who were capable of serving themselves.

How did most of the people feel at what they were seeing?
A Pleased and accepting

B Amazed but indifferent

C Surprised and disgusted

D Shocked but embarrassed

What is the cause of the rise in the employment of foreign maids in Malaysia?
A Women are too busy with their careers.

B The declining rate of employment and low income in home countries.

C Malaysian children are pampered and getting more difficult to handle.

D The growing economy in Malaysia and poverty in neighbouring countries.
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19. The status symbol adopted by the household when the maid arrives is that
A the maid has a fair share of authority
B the maid does all the household chores
C the maid can become one of the family members
D the maid shares all the household chores with the family members

20. What is the negative effect when a family employs a maid?
A The maid may abuse the children.
The maid is easily manipulated by the children.
The maid does not give in to the requests of her employers.

=~~~

The maid must attend to the whims and fancies of the younger bosses.

21. When the writer’s little nephews and nieces were told to pick up their toys and put them away, the
reaction they gave shows that
A the job is too difficult for them to do
B they do not know how to tidy up the place
C the job should be taken care of by their mother
D they consider the job solely the maid’s responsibility

22. Why didn’t the students on the school trip know how to pack their travelling bags?
A They had never packed their bags before.
B They had never relied on their maids before.
C Their teachers were willing to pack their bags for them.
D Their mothers had never taught them to pack their bags.

23. From the passage, “Our neighbours across the Causeway”(lines 31-32) refers to
A people doing National Service
B residents of Los Angeles
C Singaporeans
D Indonesians

24. Why was there an uproar in the American campus?
A Asian parents never taught their children to look after themselves.
B Asian parents came to the campus to do ‘housework’ for their children.
C American youngsters were more independent than their Asian counterparts.

D American parents changed the whole atmosphere of the students’ living quarters.

25. What is the hope of the writer?
A People will refrain from gossiping.
B Malaysian parents will not pamper their children.
C Malaysian children will grow up to be responsible citizens.
D The difficulty of employing maids can curb the over-pampering of children.

-33 .
2017 Dong Zong Copyright Reserved [ CONFIDENTIAL]



SECTIONB LANGUAGE USE (20%)
Part I  Error Identification (10%)

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

In each of the sentences below, four parts are underlined and lettered A, B, C and D. One of these
parts contains an error. Decide whether it is A, B, C or D.

Peter has an anti-social personality because he will never taken part in any activities or functions in
A B C D
school.

I did not see anybody in the classroom as they were many events being held at the school hall.
A B C D

The bus carried twenty passengers lost control and crashed into a lamp post before plunging into a
A B C D

ravine.

It was a pleasant two-hours flight to Singapore but when we arrived, my grandma complained of
A B C D

tiredness.

If he has had enough money at that time, he would have bought a large mansion with an indoor
A B C
swimming pool for his family.
D

Her legs felt weak, and she sat heavily on the curb, struggling to control her breathing so she
A B C

didn't past out.
D

All over the world, people are gaining excess to the Internet and using the computers to go online.
A B C D

Mrs. Chow complemented Lynette on her punctuality in completing her homework while
A B C

reprimanding Lucy on her tardiness.
D

James returned presently with a carriage, got the broken-hearted artist and the broken-leg statue

A B C
aboard, and drove off, whistling softly and tranquilly.
D

The novel, Transformers Dark Moon tells what happens in a futuristic society when everyone

A B
is lulled into complacence in a futuristic world that relies upon the programming of human beings.
C D
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Part I Word Forms (10%)

Read the passage and then fill in each blank with the correct form of the word in the brackets.

Before the invention of books, people wrote on stone and clay, on rolls of papyrus made from
plants in Egypt, or on dried animal skins in the Middle Ages. But to make a book, a real book as we

know today, you need paper and printing.

Paper was perhaps the greatest tool for (36)  (communicate) until the computer was
invented. The best evidence indicates that paper was invented by the Chinese between the years 250
B.C.and 105 B. C.  (37)  (History) studying Asian culture have found more  (38)  (convince)
proof that paper was soon used to print money. Paper money is one of the most 39  (use)

inventions in history, and it greatly helped the  (40)  (develop) of trade and commerce in China.

People make a big mistake when they think that printing is  (41) (entire) a Western
discovery. In fact, the first ideas about printing also came to us from China. The Chinese made the

1™ century China, a blacksmith named Pi

largest contribution to the printing press. It is said that in 1
Sheng invented the best system for  (42)  (prinf) with blocks. Did this discovery travel to the West?
Dida  (43)  (Europe) make the discovery again by himself? Nobody is sure of the answer. But we
do know that Johannes Gutenberg, a goldsmith in the city of Strasbourg, created the first printing press

with  (44)  (move) type in Europe around the year 1450.

Without these contributions to paper and printing, it would not have been possible to invent the

book, one of the highest (45 (achieve) of the last millennium.
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()
A
z 0 1 2 3 4 5 6 7 8 9
0.0 | 0.5000 | 0.4960 0.4920 0.4880 | 0.4840 0.4801 0.4761 | 0.4721 0.4681 0.4641
0.1 | 0.4602 | 0.4562 0.4522 0.4483 | 0.4443 0.4404 0.4364 | 0.4325 0.4286 0.4247
0.2 | 0.4207 | 0.4168 0.4129 0.4090 | 0.4052 0.4013 0.3974 | 0.3936 0.3897 0.3859
0.3 | 0.3821 | 0.3783 0.3745 0.3707 | 0.3669 0.3632 0.3594 | 0.3557 0.3520 0.3483
0.4 | 0.3446 | 0.3409 0.3372 0.3336 | 0.3300 0.3264 0.3228 | 0.3192 0.3156 0.3121
0.5 | 0.3085 | 0.3050 0.3015 0.2981 | 0.2946 0.2912 0.2877 | 0.2843 0.2810 0.2776
0.6 | 0.2743 | 0.2709 0.2676 0.2643 | 0.2611 0.2578 0.2546 | 0.2514 0.2483 0.2451
0.7 | 0.2420 | 0.2389 0.2358 0.2327 | 0.2296 0.2266 0.2236 | 0.2206 0.2177 0.2148
0.8 | 0.2119 | 0.2090 0.2061 0.2033 | 0.2005 0.1977 0.1949 | 0.1922 0.1894 0.1867
0.9 | 0.1841 | 0.1814 0.1788 0.1762 | 0.1736 0.1711 0.1685 | 0.1660 0.1635 0.1611
1.0 | 0.1587 | 0.1562 0.1539 0.1515 | 0.1492 0.1469 0.1446 | 0.1423 0.1401 0.1379
1.1 | 0.1357 | 0.1335 0.1314 0.1292 | 0.1271 0.1251 0.1230 | 0.1210 0.1190 0.1170
1.2 | 0.1151 | 0.1131 0.1112 0.1093 | 0.1075 0.1056 0.1038 | 0.1020 0.1003  0.0985
1.3 | 0.0968 | 0.0951 0.0934 0.0918 | 0.0901 0.0885 0.0869 | 0.0853 0.0838 0.0823
1.4 | 0.0808 | 0.0793 0.0778 0.0764 | 0.0749 0.0735 0.0721 | 0.0708 0.0694 0.0681
1.5 | 0.0668 | 0.0655 0.0643 0.0630 | 0.0618 0.0606 0.0594 | 0.0582 0.0571 0.0559
1.6 | 0.0548 | 0.0537 0.0526 0.0516 | 0.0505 0.0495 0.0485 | 0.0475 0.0465 0.0455
1.7 | 0.0446 | 0.0436 0.0427 0.0418 | 0.0409 0.0401 0.0392 | 0.0384 0.0375 0.0367
1.8 | 0.0359 | 0.0351 0.0344 0.0336 | 0.0329 0.0322 0.0314 | 0.0307 0.0301 0.0294
1.9 | 0.0287 | 0.0281 0.0274 0.0268 | 0.0262 0.0256 0.0250 | 0.0244 0.0239 0.0233
2.0 | 0.0228 | 0.0222 0.0217 0.0212 | 0.0207 0.0202 0.0197 | 0.0192 0.0188 0.0183
2.1 | 0.0179 | 0.0174 0.0170 0.0166 | 0.0162 0.0158 0.0154 | 0.0150 0.0146 0.0143
2.2 1 0.0139 | 0.0136 0.0132 0.0129 | 0.0125 0.0122 0.0119 | 0.0116 0.0113 0.0110
2.3 | 0.0107 | 0.0104 0.0102 0.0099 | 0.0096 0.0094 0.0091 | 0.0089 0.0087 0.0084
2.4 1 0.0082 | 0.0080 0.0078 0.0075 [ 0.0073 0.0071 0.0069 | 0.0068 0.0066 0.0064
2.5 | 0.0062 | 0.0060 0.0059 0.0057 | 0.0055 0.0054 0.0052 | 0.0051 0.0049 0.0048
2.6 | 0.0047 | 0.0045 0.0044 0.0043 | 0.0041 0.0040 0.0039 | 0.0038 0.0037 0.0036
2.7 | 0.0035 | 0.0034 0.0033 0.0032 | 0.0031 0.0030 0.0029 | 0.0028 0.0027 0.0026
2.8 | 0.0026 | 0.0025 0.0024 0.0023 | 0.0023 0.0022 0.0021 | 0.0021 0.0020 0.0019
2.9 | 0.0019 | 0.0018 0.0018 0.0017 | 0.0016 0.0016 0.0015 | 0.0015 0.0014 0.0014
3.0 | 0.0013 | 0.0013 0.0013 0.0012 | 0.0012 0.0011 0.0011 | 0.0011 0.0010 0.0010
3.1 | 0.0010 | 0.0009 0.0009 0.0009 [ 0.0008 0.0008 0.0008 | 0.0008 0.0007 0.0007
3.2 | 0.0007 | 0.0007 0.0006 0.0006 [ 0.0006 0.0006 0.0006 | 0.0005 0.0005 0.0005
3.3 | 0.0005 | 0.0005 0.0005 0.0004 [ 0.0004 0.0004 0.0004 | 0.0004 0.0004 0.0003
3.4 1 0.0003 | 0.0003 0.0003 0.0003 [ 0.0003 0.0003 0.0003 | 0.0003 0.0003 0.0002
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BEMEK

I. K

II.

_ —b+~b* —4dac
2a
a’—b* :(a+b)(a—b)

a+bh’ =(aib)(a2$ab+b2)

X

log, xy =log, x+log, y
X

log, —=log, x—log, v
y

log, x" =mlog, x

log, x

a*" =x
log, x = log, x
log, a

1
A = adj( 4
det(A) J( )
=A%
Nk =r6
V2Rl R:%rzé’
tan 6 — sin@
cosé
1
cosec  =——
sin@
secl =
cosf
cotd =
tan @
a b c

—=——=—-=2R
sin4d sinB sinC
a’ =b*+c* —2bccos A

AzlabsinC
2
A:\/s(s—a)(s—b)(s—c), S:a+12)+c
WamEEE  r=2
S
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FER3 a,=a+(n-1)d

5, =5[2a+(n-1)d]
F L3 a,=ar""

5 - a(l—r")

1-r
s =4
Yo 1-r

: n(n+1)

sin@+cos*d=1
sec’@=1+tan’ @
cosec’@ =1+cot* @
sin(AiB) =sin Acos B+ cos Asin B
cos( A+ B)=cos Acos BFsin Asin B
_ tanAttanB
1¥tan Atan B
sin24 =2sin Acos A
cos2A =cos* A—sin’ 4
=2cos’ 4-1
=1-2sin’* 4
2tan 4
1—tan’ 4

tan( A+ B)

tan24 =
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d= \/ _xl y1)
SHN X, [ Mty my, +ny,
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HA&FTAXN y-y =
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, Ty

MAEZXNELAO, tanb=
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nCr =
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—x" =nx

dx

d .

—sinx=cosx

dx

d )

—cosx=-sinx

dx

d >

—tanx =sec” x

dx

d 2

—cotx =-—cosec x

dx

d

—secx=secxtanx

dx

d

—COSeC X = —COSeC xcot x

dx

—Inx=—

dx X

—log x= !

dx Ba xlna

d X X

—e' =¢

dx

—a " =a"lna

dx

i A2 ijdx £ J.jxdy

2017 & AT A

+C, nz-1
cosxdx=sinx+C

sinxdx=-cosx+C

cosec’xdx=—cotx+C
secxtanxdx =secx+C

cosec xcot xdx =—cosec x+C

J
J
J
[sec? xdv=tanx+C
J
J
J

Ildlen|x|+C
X

Iexdxzex+C
J.a"dx=lixa+C
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P HEE 20%)

(K5 AEE. )
1. &% fog:x—)jccjé, x#2, K
@ (fog)(1); (1%)
®) (g ")(x). (3%)

2. B 1244, H&E ABCD 2—K
FH, &V E£ELE O ¥ELF., 4
AB=24cm, BC=18cm, VA=17cm, K

(a) ARHES) 3; (2%)
(b) VA 5-Fd@ ABCD FTAR A .
(ZREAEHZ0.01°) (2%)

3. ZZLEREFSHE, R

(a) P(Z>-1); (2%)

(b) P(0<Z<2), (2%)
4, B x*+1y°=100 #—FZE ALK Sx-3y-34=0 L, KiZzz+d &6

AL AT (4%)

5. XBH r HIKRIERAY V=§7rr3o Lk M, 6 E R
0.0l mms ' 89 3 hn, HFRAH 1cm i, KRANFKGGIRAIE ho ik & (4%)
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4 EERE (40%)
(K207 ZIEE 4 B, 12 EEEH 4 4. )

6. (a) RE 3i+2j F@MREAKEA 5@ E, (2%)
(b) L& \/x+4+\/;+\/x+4—\/;

. 3%
\/x+4—\/; \/x+4+\/; %)
(c) MFA2X log,x’ =log 3-1. (5%)
7. @ MFEX Vx +9+3=2x. (4%)
1 2 7
(b) B.44EME A=|1 3 0|, TFFEATEN, KA.
0 -1 8
1
FErb, RIEME X 1EF AX=|2]| . (6%)
3
8. (a) MEAHAZX, 2cosecd+sinfd=5, 0°<6<360°, (4%)
(b) B2+, PQ/BC. 242 PQ:BC=1":3, A
BP=2cm, CQ=4cm, BC=6cm. & P Q
2 cm 4 cm
(1) ZBAC; (BZ%££#%20.01°) B > C (4%)
(ii) AABC 49 & #2. A 2 (2%)
9. (a) RBILE(-2,5)AHAL x-2y-7=0 EHAHAXFTAEX. (2%)
(b) AABC#TREA AG, 8), B(-5, 2) & C(7, 5). & LZAWFLAR
BC F.2 D, K. & D #9447, (4%)
(c) KE x*+y*=9 ALK 3x+4y=25 WIRKIEHARIEIESD. (4%)
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10. (a)

(b)

11. (a)

(b)

12. (a)

(b)

(©)

—AF 4P BARGIEE A 0.7, BfbtE 10 kR, BRAHEA RS
4, RAEE VS B AR T RMER, (BRE M E S )

ERGHZFANHEIFFE XG0k | Fir:

23K 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

2k ASK 1 3 11 21 43 32 9

1

Ko@) P
(i) #E£; (%
(iii) FAHL. (%44

e
%Wﬁ

2 A E AN EE)
A Z AN B

%%

it Ha jx\/x+1dx .

S -ANEEH 18 M, FH2m, £

Axm, TAHymAKFRLENKA, 2
ol 3 T, CArAh RS 48R AT s ;
R_EGFEM 454 RM 90 Z RM 60. x

A3

(1) FEBAKAREMN A 240x+ 240y +90xy ;
(i) EBH xy=9;
(iii) R x 5 y 984 KA 69N RAK, FFRILRAKIEN .

Kl

* xlil‘}\/x+ -1
R fcotx dx . A
HA4pmiHERBuEE y=Inx,

B E& xoe FTEA. /%?Z
KO TA RS X3RS y-4h7e 4% 360° BT A%, 0 /

a9 e SEIRARAR

)

Inx
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(3%)

(2%)
(2%)
(3%)

(3%)

(2%)
(1%)

(4%)

(2%)

(2%)
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Rk %t 0(z)=P(Z > z),
L Z ZAREFEAEHTN(0,1).

INERSHEER

0(2)
z

z 0 1 2 3 4 5 6 7 8 9

0.0 | 0.5000 | 0.4960 0.4920 0.4880 | 0.4840 04801 0.4761 | 0.4721 0.4681 0.4641
0.1 | 0.4602 | 04562 0.4522 0.4483 | 0.4443 04404 0.4364 | 0.4325 0.4286 0.4247
02 | 04207 | 04168 0.4129 04090 | 0.4052 04013 0.3974 | 0.3936  0.3897 0.3859
0.3 | 03821 | 0.3783 0.3745 03707 | 0.3669 03632 0.3594 | 0.3557 0.3520 0.3483
04 | 03446 | 03409 03372 0.3336 | 0.3300 03264 0.3228 | 03192 0.3156 0.3121
0.5 | 03085 | 0.3050 03015 0.2981 | 0.2946 0.2912 0.2877 | 0.2843 0.2810 0.2776
0.6 | 02743 | 02709 02676 0.2643 | 02611 02578 0.2546 | 0.2514 0.2483 0.2451
0.7 | 02420 | 0.2389 02358 0.2327 | 0.2296 0.2266 0.2236 | 0.2206 0.2177 0.2148
0.8 | 02119 | 0.2090 02061 0.2033 | 0.2005 0.1977 0.1949 | 0.1922 0.1894 0.1867
09 | 0.1841 | 0.1814 0.1788 0.1762 | 0.1736 0.1711 0.1685 | 0.1660 0.1635 0.1611
1.0 | 0.1587 | 0.1562 0.1539 0.1515 | 0.1492 0.1469 0.1446 | 0.1423 0.1401 0.1379
1.1 [ 0.1357 | 0.1335 0.1314 0.1292 | 0.1271 0.1251 0.1230 | 0.1210 0.1190 0.1170
1.2 [ 01151 | 0.1131  0.1112  0.1093 | 0.1075 0.1056 0.1038 | 0.1020 0.1003  0.0985
1.3 | 0.0968 | 0.0951 0.0934 0.0918 | 0.0901 0.0885 0.0869 | 0.0853 0.0838 0.0823
1.4 | 0.0808 | 0.0793 0.0778 0.0764 | 0.0749 0.0735 0.0721 | 0.0708 0.0694 0.0681
1.5 | 0.0668 | 0.0655 0.0643 0.0630 | 0.0618 0.0606 0.0594 | 0.0582 0.0571 0.0559
1.6 | 0.0548 | 0.0537 0.0526 0.0516 | 0.0505 0.0495 0.0485 | 0.0475 0.0465 0.0455
1.7 | 0.0446 | 0.0436  0.0427 0.0418 | 0.0409 0.0401 0.0392 | 0.0384 0.0375 0.0367
1.8 | 0.0359 | 0.0351 0.0344 0.0336 | 0.0329 0.0322 0.0314 | 0.0307 0.0301 0.0294
1.9 | 0.0287 | 0.0281 0.0274 0.0268 | 0.0262 0.0256 0.0250 | 0.0244 0.0239 0.0233
2.0 | 0.0228 | 0.0222 0.0217 0.0212 | 0.0207 0.0202 0.0197 | 0.0192 0.0188 0.0183
2.1 | 0.0179 | 0.0174 0.0170 0.0166 | 0.0162 0.0158 0.0154 | 0.0150 0.0146 0.0143
22 | 0.0139 | 00136 0.0132 0.0129 | 0.0125 0.0122 0.0119 | 0.0116 0.0113 0.0110
2.3 | 0.0107 | 0.0104 0.0102 0.0099 | 0.0096 0.0094 0.0091 | 0.0089 0.0087 0.0084
2.4 | 0.0082 | 0.0080 0.0078 0.0075 | 0.0073 0.0071 0.0069 | 0.0068 0.0066 0.0064
2.5 | 0.0062 | 0.0060 0.0059 0.0057 | 0.0055 0.0054 0.0052 | 0.0051 0.0049 0.0048
2.6 | 0.0047 | 0.0045 0.0044 0.0043 | 0.0041 0.0040 0.0039 | 0.0038 0.0037 0.0036
2.7 | 0.0035 | 0.0034 0.0033 0.0032 | 0.0031 0.0030 0.0029 | 0.0028 0.0027 0.0026
2.8 | 0.0026 | 0.0025 0.0024 0.0023 | 0.0023 0.0022 0.0021 | 0.0021 0.0020 0.0019
2.9 | 0.0019 | 0.0018 0.0018 0.0017 | 0.0016 0.0016 0.0015 | 0.0015 0.0014 0.0014
3.0 | 0.0013 | 0.0013 0.0013 0.0012 | 0.0012 0.0011 0.0011 | 0.0011 0.0010 0.0010
3.1 | 0.0010 | 0.0009 0.0009 0.0009 | 0.0008 0.0008 0.0008 | 0.0008 0.0007 0.0007
3.2 | 0.0007 | 0.0007 0.0006 0.0006 | 0.0006 0.0006 0.0006 | 0.0005 0.0005 0.0005
3.3 | 0.0005 | 0.0005 0.0005 0.0004 | 0.0004 0.0004 0.0004 | 0.0004 0.0004 0.0003
3.4 | 0.0003 | 0.0003 0.0003 0.0003 | 0.0003 0.0003 0.0003 | 0.0003 0.0003 0.0002

-79 -
2017 & B AT H

(#%]



2017 FESRBEEX DG —F R

=

|
&
=
1
I

= RHEE (D

(SC06)

KAE— RAEH

BHH#9: 2017 %10 A 31 B
BFIE]: 8.30 a.m. — 9.30 a.m.
(1 /8F)

£ 4 M A

(—) AFHRA LS A0
KA IR (40%),
KE—: ML (60% ).

(Z) ZARTFH—NBEHEY 1 DR T RIRE—. B2 15 24PE,
FAEF N BEALZ Y 2 I A SR A

(2) KA—REM 20 MY, LB EMILE, REA SBALK O
BRE (WEF) LANE G FEEG N FHBRE,

(99) wTAEA B ALE &9 b F i A 470
() HFAXRESF 2-4 @,

(%) RE—LFAMLILH, RE—BZA.

| *eEXEt TOBEAR |

(F AL, & Y5

- 65 -
2017 & E AT A

[HE]



BEMEK
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II.

_ —b+~b* —4dac
2a
a’—b* :(a+b)(a—b)

a+bh’ =(aib)(a2$ab+b2)

X

log, xy =log, x+log, y
X

log, —=log, x—log, v
y

log, x" =mlog, x

log, x

a*" =x
log, x = log, x
log, a

K =r0
%%@ﬁ:%ﬁe

sin @

tan @ =
cosé

cosec @ =—
sind
1

cosf

secl =

cotd =
tan @

a b c

—=——=—-=2R
sind sinB sinC
a’ =b*+c*—2bccos A

A:labsinC
2
Az\/s(s—a)(s—b)(s—c) , §= a+§+c
mmExs  r=2
s
2017 & BB FTA
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FER3 a,=a+(n-1)d

S, :§[2a+(n—l)d]
S &l a,=ar"”’

5 - a(l—r")

1-r
—
-7

z n(n+1)

sin®@+cos’ 0 =1
sec’@=1+tan’ @
cosec’d =1+cot’ 0

sin(AiB) =sin Acos B+ cos Asin B

cos( A+ B) =cos Acos B sin Asin B

tan(A+B)— tan A+ tan B
B 1¥tan Atan B

sin24 =2sin Acos A
cos2A =cos* A—sin’ 4
=2cos’ A-1
=1-2sin’* 4
2tan A4

tan24 = >
l-tan” 4
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d= \/ _xl y1)
SHN X, [ Mty my, +ny,
m+n ~ m+n

AN EmAR= ‘(x1y2+x2y3+x3y1) (x2y1+x3y2+xly3)‘

HA&FTAXN y-y =

m(x—xl)

» Ty

MAZ A0, tand=

1+ m,m,

Axy+ By, +C
VA* +B?
(x—nY
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IV. it Sak
PRV N

twanide Q=L+ {4 C,
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W EIE =0, -0,

— Q3 _Q1
Q.D._—2

+(y—k)2 =

2017 & SRR FTA

-67 -

nCr =
(n—r)!r!

P(AUB)=P(A4)+P(B)-P(ANB)
P(4)=1-P(4')
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sin x

lim =1

x—0 X

d dv du
—(uv) =y—+v—
dx dx dx

du u dv

d(u)_ " dx dx
dx\ v v

d _
_xn :nxn 1

dx
—sinXx =Ccosx

dx
—Ccosx=-sinx

dx

2

—tanx =sec” x

dx
— cotx =—cosec’x
dx
—secx=secxtanx
dx
—COSeC X = —COSeC xcot x
dx
—Inx==—

dx X

1

—log, x =

dx xlna
A

dx
—a " =a"lna

dx

i A2 ijdx £ J.jxdy
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+C, nz-1
cosxdx=sinx+C

sinxdx=-cosx+C

cosec’xdx=—cotx+C
secxtanxdx =secx+C

cosec xcot xdx =—cosec x+C

J
J
J
[sec? xdv=tanx+C
J
J
J

Ildlen|x|+C
X

Iexdxzex+C
J.a"dx=lixa+C

PRAR 7Z'J.j yidx R 7[_[:/ x> dy
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. S&3AKX f(x)=(x"-3x+5) Bl (x-2) B&HK27, K n by,
A 2 B 3 C 5 D 9

2. ZWLK y=x"+3x+4 HHLK y=mx THR, KmeBIETLH.
A (-7,1) B (-1 7)
C (-, =7)u(l, ) D (-0, —1)U(7, o)

3. ZaAPAFAER 2 +3x-4=0 HHI, £ %J B A.

B
3 1 3
A -3 B -3 C 5 D >
o (=1 (x+2)
4. BARFX (x=1) (x+2) 20 .
3—x

A 1<x<3 B 1<x<3 &% x=-2

C 1<x<3 & x=-2 D x<-2 & 1<x<3
5. €4 a>0, a*=V2+1, £ ax+a:x #1E.

a —da
A 1-2 B 2-1 C J2+1 D 2+2

6. —FEHINWAZAA x—-4, 2x—1 B 4x—-1. REEH nRZ A,

A 2n’+4n B 3n’+4n C 2n°—4n D 3n° —4n

7. % (xt%j W BRI K W 2 A A

X

A =70 B -56 C 70 D 56
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8. B 1%+, OPQ 2L O ARt HF., S p
/POQ=0.8rad, BH&E K2 42cm, Kt

BT 6 Em AR,

A 80.7 cm’ 0.8 rad
B 90 cm’ @

C 993 cm? a1
D 100.7 cm®

9. EAABC ¥, AC=6cm, AB=5cm, A=45°. K AABC M #F 42,
A 2.88 cm B 3.05cm C 323cm D 3.68cm

10. 40 2 Fr+, BCD RH%. 2 cosA:—%,
A

. _;L L )
sin B = 55 K sinx. /\
A 108

325 B c D

228 A2
325

253
325

323
325

B

11. —ZXHLE 35°N 694 &M K (35°N, 47°W ) # & ®4T7E L(35°N,33°E), K&
KATIED .

A 6882 B 2400 &% C 275352 D 393282

12. &4 ABCD #95+ =/NTR.EH A5, 8), B(-3, 4) A C(-5, -6), AB/CD, H
AB=4CD. K& D #2447,

A (-8, -6) B (-7, -7) C (-6, -8) D (-3, -5)

13. &4 WA ABCD #9WAT &4 A(-1, 1), B(3, —1), C(5, 2)A D(0, a). #FwiZ
Bay@ih S, R a i,
A -5 B -2 C 2 D 5
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14.

15.

16.

17.

18.

19.

20.

KALK 2x—-4y+5=0 A x+4y=0 FrEe9%iA.
A 12.53° B 15.95° C 40.60° D 50.19°

—&FEARALKRMI, ZiK RMS5 ZHK RM 10 69440, ZEMET P RAIHIR—
kK AE), KPTIhE| MR 2 EAE,
A RM 4.00 B RM4.33 C RM 5.00 D RM 533

R =B —E R mA, Hb oA REEARAR. PR B AT AR ?

A 48 B 72 C 144 D 576
2 . dzy
&4 y=(sinx+cosx) , K —-.
dx
A  —4sin2x B -2sin2x C -2cos2x D 2cos2x

Rtk p=(2x+3)" £ x=-2 R#ELFTEX,
A x+2y=0 B 4x+y-2=0
C x-2y+4=0 D x-4y+6=0

= jf(x)dxlenx+C, CHhEE £ f(x) .

2

A l+Inx B -(lnx-1)
2 2
C (2mnx-1) D (2lnx+1)
Y-l
H-j%ij T dx
1 X
1 V3 V3 14
A3 B c D =
-71 -
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